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Abstract
In Complex number, I tried to decide the divisors and find the relationship between the number
and the total of the number’s divisors. Complex number is the number which is explained a + bi
(i is the imaginary unit which is square root of —1, a and b are real numbers.) In complex
number, prime factorization is not only one pattern, because this decomposition ignores the
multiplication of the units. The result is that I found two ways to get the total of divisors. One way
is that I make the prime factors even by using the units. The other way is that I make the divisors
even by using only positive divisors. In both ways, the totals and the numbers have positive

relationship, and several ratios have similar values.
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